| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
Entries 27746 1e - - ~— Entries 27746
Mean 0.01806 . . . Mean 1.644
Std Dev 0.1364 N N : Std Dev 2.802
missing_inner_layers B P P = missing_outer Tayers
g_nner Tay 107'E : : : g_outer lay
Entries 27746 = . : : Entries 27746
Mean 0.01806 r : : Mean 1.644
Std Dev 0.1364 -2 . Std Dev 2.802
T T T 10 - e i T
missing_inner_layers E missing_outer_layers
Entries 27790 - Entries 27790
Mean 0.01806 1073 ---eeee IR SRR Mean 1.654
Std Dev 0.1364 E : : ¢ std Dev 2.809
SR 2 : [
. missing_inner_layers o missing_outer_layers
....... Entries 27790 -4 Entries 27790
Mean 0.01806 10 E Mean 1.654
Std Dev 0.1364 r Std Dev 2.809
R PR P A R missing_inner_layers 10—5 - L .| missing_outer_layers
: Entries 27746 E Entries 27746
. 0.01806 F Mean 1.644
i 0.1364 B Std Dev 2.802
01056‘3, ||||.|||||||| 01059_I : ...:....
4 : : c Bl LT : :
0965 T 15 2 25 3 35 4 45 5 9% 5 16 15 20 25
=g
—
i DOM—V/ R 1
mean hif —— B8V-/8861—R000000001
— 40 - Entries 27746
» E Mean 15.54
> o Std Dev 4.982
A 35F- : - I
2 r hits
c - Entries 27746
v 30 Mean 15.54
o Std Dev 4,982
25F
20F
15
10
Entries 27746
1__ Mean 15.54
o F: Std Dev 4.982
9 J_.\‘O- . 9 J..UJ_ . : I m...r....
= = . . .
@ N . ¢ r H i .
N - T Tl :
) : - 1 I
f ; , it ||||||||||m||||” :
0.955 : : : : ; - R e :
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_simul_pT num_reco_pT
Entries 137344 - T T Entries 30377
Mean 2.107 N Mean 3.975
Std Dev 5.971 1071' Std Dev 8.442
. I N i = AR 1
num_simul_pT = num_reco_pT
Entries 137344 N Entries 30377
Mean 2.107 Mean 3.975
Std Dev 5.971 1072 E Std Dev 8.442
: I E : |
num_simul_pT - num_reco_pT
tries 137344 3 B tries 30428
Me 2.107 10 °F MEgn 3.973
Std Cev 5971 E Std{Dev 8.439
Al o
nui mul_pT B rpm reco_pT
Entries 37344 107 Entride 30428
Mean 2.107 E Mean 3.973
Std Dev 5.971 - Std Dev 8.4P°
: I : |
num_simul_pT 1075 E num_reco_pT
Entries 137344 E Entries 30377
Mean 2.107 o Mean 3.975
5 Std Dev. 5.97. 5 B Std Dev. 8.442
= 1 I 1L —| 1 I 1
0105} I : 0105} :
= r : : B = r :
£ ' Tl £ '
jluuuu;mllll|||j| 40011 B S :
.[TTTTTTTTTlTTTTTT”||.|||” : [ :
0.95— : . : S s 0.95— : S s
10 1 10 10 10 10 10 10
TP p. track p_



	Contents
	Page 1


